
１　(−4) % (−8)

２　(−
1
6
) +

2
9

３　2(2a2a − b + 3) − (a − 3b3b + 5)

４　14x14x14x2y + (−4xy4xy4xy) % 2y2y

５　 1212 −
9

3
+ 4 3

６　(x + 7)(x − 2) + (x + 5)(x − 5)

301

１　−3 + 9

２　1.7 % (−3)

３　3(3x3x + y) + 2(x − 2y2y)

４　(9a9a2 − 6a6a) + 3a3a

５　
1515

5
− (2 + 5 )(3 − 5 )

６　(x + 5)(x − 5) − (x − 4)2

302

１　(−3636) + 9

２　
1
4
− (−

2
5
)

３　3(−a − 2b2b + 3) − 2(a − 3b3b)

４　48x48x48x2y + 8y8y + (−3x3x)

５　(3 + 2 )(3 − 2 ) −
3232

2

６　(x − 2)(x + 6) + (x − 5)2

303

１　5 + (−1111)

２　(−2.5) % 0.8

３　2(x − 2y2y − 3) + 3(x + 2y2y − 2)

４　6a6a2b − abab % 3a3a

５　( 3 − 2)2 +
1515

5

６　(x + 7)(x − 7) − (x + 2)(x − 4)

304

１　−5 − 3

２　(−6)2 %
1
2727

３　3(x − 3y3y) + (x + 5y5y − 4)

４　24ab24ab24ab24ab2 + 8ab8ab8ab % 5b5b

５　
6

2
+ (4 + 2 )(3 − 2 )

６　(x + 4)2 − (x − 3)(x − 5)

305

１　3 − (−5)

２　
9
1010
+ (−

3
5
)

３　(x + 3y3y − 4) − 2(3x3x − 2y2y − 1)

４　(20a20a20a2 + 4ab4ab4ab) + 4a4a

５　 3 ( 6 + 3 ) −
1010

2

６　(x + 5)(x − 5) + (x + 4)(x + 1)

306

１　(−2828) + (−7)

２　
3
4
−
5
6

３　3(−a + 2b2b − 3) − (3a3a + 5b5b − 6)

４　16ab16ab16ab16ab − 8ab8ab8ab2 + 4b4b

５　
1212

1818
− ( 2 − 2)2

６　(x − 3)(x − 5) + (x + 4)(x − 4)

307

１　(−5) + (−7)

２　0.3 % (−0.4)

３　3(2x2x − 3y3y + 1) − 2(x − 4y4y − 5)

４　36ab36ab36ab36ab2 + 6b6b + 2ab2ab2ab

５　( 1818 + 1)( 1818 + 3) −
1212

1818

６　(x + 2)(x − 4) − (x − 5)2

308

１　1818 + (−3)

２　−
1
4
+
5
6

３　5(2x2x − 3y3y) − 3(x − 2y2y − 5)

４　30a30a30a2b + 12a12a12a2 % 4ab4ab4ab

５　( 8 + 3)( 8 − 2) +
1010

2

６　(x + 4)(x + 5) − (x − 7)2

309

１　6 % (−9)

２　
1111
1515

−
4
5

３　4(a − 3b3b + 2) − 3(2a2a − b)

４　(−6x6x2 + 8x8x) + 8x8x

５　
1515

5
+ (3 − 5 )2

６　(x + 6)2 − (x + 2)(x − 2)

310

１　(−3) % (−6)

２　(−
5
6
) +

3
8

３　3(2a2a − b + 4) − (a − 5b5b + 3)

４　20x20x20x2y + (−6xy6xy6xy) % 3y3y

５　 3232 −
1010

2
+ 3 2

６　(x + 4)(x − 5) + (x + 3)(x − 3)

311

１　−4 + 7

２　1.5 % (−5)

３　5(2x2x + y) + 2(x − 3y3y)

４　(24a24a24a2 − 8a8a) + 4a4a

５　
1212

3
− (1 + 3 )(3 − 3 )

６　(x + 6)(x − 6) − (x − 5)2

312

１　(−5656) + 8

２　
2
5
− (−

1
3
)

３　3(−3a3a − 2b2b + 1) − 2(a − 5b5b)

４　45x45x45x2y + 5y5y + (−3x3x)

５　(4 + 5 )(4 − 5 ) −
1212

3

６　(x − 5)(x + 3) + (x − 6)2

313

１　4 + (−9)

２　(−1.5) % 0.4

３　2(x − 2y2y − 5) + 3(2x2x + y − 1)

４　8a8a2b − abab % 2a2a

５　( 5 − 2)2 +
1515

3

６　(x + 4)(x − 4) − (x + 2)(x − 7)

314

１　−3 − 4

２　(−8)2 %
1
2424

３　3(x − 2y2y) + (x + 6y6y − 5)

４　32ab32ab32ab32ab2 + 4ab4ab4ab % 2b2b

５　
1515

5
+ (3 + 5 )(2 − 5 )

６　(x + 5)2 − (x − 6)(x − 3)

315

１　4 − (−5)

２　
2121
8
+ (−

7
4
)

３　(x + 5y5y − 7) − 2(3x3x − y − 2)

４　(42a42a42a2 + 6ab6ab6ab) + 6a6a

５　 5 ( 1010 + 5 ) −
6

2

６　(x + 3)(x − 3) + (x + 5)(x + 2)

316

１　(−4242) + (−7)

２　
1
8
−
5
6

３　2(−a + 2b2b − 3) − (2a2a + 3b3b − 4)

４　21ab21ab21ab21ab − 12ab12ab12ab12ab2 + 3b3b

５　
4

8
− ( 2 − 2)2

６　(x − 2)(x − 6) + (x + 5)(x − 5)

317

１　(−4) + (−7)

２　0.3 % (−0.7)

３　3(2x2x − 3y3y + 1) − 2(x − 4y4y − 5)

４　36ab36ab36ab36ab2 + 3b3b + 4ab4ab4ab

５　( 1212 + 2)( 1212 + 5) −
1818

1212

６　(x + 2)(x − 5) − (x − 8)2

318

１　2424 + (−8)

２　−
3
4
+
5
6

３　4(3x3x − 7y7y) − 3(2x2x − 5y5y − 1)

４　18a18a18a2b + 12a12a12a2 % 4ab4ab4ab

５　( 1212 + 3)( 1212 − 2) +
1212

3

６　(x + 2)(x + 4) − (x − 1)2

319

１　6 % (−8)

２　
7
1515

−
4
3

３　5(2a2a − b + 3) − 3(a − 4b4b)

４　(−12x12x12x2 + 9x9x) + 9x9x

５　
1212

3
+ (1 − 3 )2

６　(x + 5)2 − (x + 3)(x − 3)

320
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